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5. Each question is followed by four answer choices i.c..A, B, Cand D. Out of these you
have to select the correct answer for each question and darken the space on OMR
sheet with the correct answer.
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6. The original copy of the OMR Sheet shall be handed over to the mnvigilator before
you leave the examination hall, failing which, you will be liable for disqualification
you can carry the copy with you. ;
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7. Forrough work, if any, the pages 49 to 52 of the Test Booklel may be used but not on
any part of the test booklet or OMR sheet.
5% 56k, DPrv TaSOD, B 205SeS D50 defen 49 008 52 83, B ESET e OMR Sefesto
5 grdsin GHABRBOWTS,
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8. The candidates should not write on OMR Sheet any irrelevant matter, except the
specified items of information called for; if he does so, his OMR Sheet will not be
evaluated.

oz5d0 OMR £e5 &ocs, H8,500 @83 DaabEven 853, @BHDS DB DPODERECE. )
2B a0 OMR 65 6565 Sobetro..
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9. Candidates are instructed not to bring calculator / cell phone / any other computing
device along with them into the examination hall.

O Qo0 3088 Dok S BE / S IS / I8 HB0 HowpeBoh HosuEeD T Feosh
SroBo0e8RE . ‘ |
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10.  Donot help other candidales as by doing so you may reduce your chances of selection
and get disqualified.
2S5V BB FooA. Bk SRS H edsTSL Slefoniky MO0 BSED0 DA
E2ghHRD.
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11.  Incase of doubt, refer to english version and if there is any small variation noticed in
3 languages. English version will be considered as final.

D3 Doddesn 65 ol e SRGod, 3 penpet 0 Booen Bigond Bog 8 HOERGRS
BRo82Hetso.
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4 For questions 1 - 5, choose the closest meaning of the given words.
1)  Nepotism.

(A) Impartial (B) Nearmess (C) Favoritism (D)
2) Foe
(A) Fraud (B) Enemy (C) Friend (D)

E
3) Imperious

{A) Distant (B) Temper (C) Tamper (D)
4) hcit
(A) Hlegal (B) Draw (C) Differ (D)

5} Oblique
(A) Straight (B) Parallel (C) Perpendicular (D)

For questions 6 - 10, choose the opposite word for the given words.

6) Shallow

(A) High (B) Deep (C) Hollow (D)
7)  Paucity

(A) Scarcity (B) Richness (C) Plenty (D)
8) Novel

(A) Traditional (B) Formal (C) Innovative (D)
9) Repel

(A) Attract (B) Continuc (C) Attend (D)

10)  Acquit
(A) Lxplain (B) Release (C) Convict (D)

RLS - 13 (Set - A) g
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For questions 11-15, choose the most cffective word to fill the blank to make the
sentence meaningfully complete.

11) The government is planning to set family welfare centers for slums in
cities.
(A) 1 (B) up
(C) for (D) another
®
12) Thetruck was _ the tralfic and the policeman asked the driver to move off.
(A) disturbing (B) hiding
(C) obviating - (D) obstructing
{3) She has an aversion __taking cven onion and garlic. ;
(A) at _ (B) against
(C)y wath (D) to
14) 1 acarto be absolutely necessary these days.
(A) think (B) regard
(C) agrec (D) consider
15) 1haven’t seen you | a week.
(A) Drom ‘ (B) within
(C) for (D) since

RLS -13 (Set - A) A
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For questions 16 - 20, cead the following passage carcfully and answer the questions'
given below it.

Dance is an art form that gencrally refers to movement of the body, usually rhythmic
and to music, uscd as a form of expression, social interaction or presented in a spiritual or
performance setting. Gymmastics. figure skating and synchronized SWwiHNMING are sports
that incorporate dance, while martial arts Kata arc often compared to dances. Motion m
ordinarily inanimate objects may also be described as dances (the leaves dance in the wind),

[iycry dance no matier what style, has something in common. 1t not only involves
flexibility and body movement, but aiso physics. Il the proper physics is not taken into
consideration injuries may occur. Chorcography is the art of creating dances. The person
who creates (i.e. chorcographs) a dance is known as the chorcographer.

Dance has certainly been an important part of ceremony, rituals, celebrations and
entertainment since the birth of {he carliest human civilizations. Archeology dehivers
irace of dance from prehistoric times such as the 9,000 years old Rock Shelters of
Bhimbetka painting in India and Egyptian tomb painting depicting dancing fipures from
circa 3300 BC.

Once of the carliest structurcd uscs of dances may have been in the performance
and in the telling of myths. Before the production of written languages dance was one of
the methods of passing these stories down [rom gencration to gcneration.

16) Anart form in which pcople move is called dance.
(A) spiritually (3) rhythinically

(C) expressingly (D) humorously
17) While writing in a poctic mood, the writer may use the word dance to describe the |
_ of some object.
(A) movement (B) beauty (C) rhythm (D) velocity

18) To avoid being hurt one should consider the _ of object and its movements

while dancing.

(A) flexibility (B) style _
(&) physics (D) body movement
19) Before the script of writing was produced, dance used lobea _ fromonc
gencration to another.
(A) mode of passing information (B) mode of passing stories
(C) mode of sharing cxperiences (D) mode of narrating events .

20) A word in the passage which means the same as lifclessis

(A) anmmate (3" unanimate {C) inanimate (D) motionless

RLS - 13 (Set - A)
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21) Which of the following is a prime number?
808 5e3° HEPR VOYPY; DT ?e_-lr‘;f).ﬁ':{c_-h_-‘/tﬂdjz'/d')

(A) 187 (B) 173 (C) 437 (D) 627

22) LCM of 26, 56, 104 and 182 15

26, 56, 104 s0O0X0 1820 E.a0.D D0BY K l;;‘fL_c_M,ngg,,;jg, 56,104

(A) 748 (B) 1274 () 728 (D) 456
12.1
-2
23)_ 19.8
11 | 7 13 i1
&) T ® 3 © T O
sy & orza =L |
) §uen=agie
5 15
= o 24 = =x7 15,5 .2
8 & 7 24=7x?5’-§
A) 7 B) 8 C) 15 © =
*) (8) (©) ® 3
25) V17161=?
(A) 181 (B) 141 (€) 131 (D) 129

26)

If the average of 40, 10, 25, 20, 35, x is 25, then the value of x is

40, 10, 25, 20, 35, X © 0580 25 9008 X Dend Do 7

(A) 35

RLS - 13 (Set - A)

(B) 20

(C) 30

o e §x7 525651640, 10,25,20,35, %

(D) 25
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27)

28)

29)

30)

31)

RLS - 13 (Set - A)

of a certain number is 64. Half -of the number 18

U‘tl.l':x

4
a8 oYL’ 5 Ho® 6 @008, & PoPG® VB HOB?

4
?(ﬂl:ff._iﬂJB’JﬁJ!;ﬁM.ﬂg S/J,w._{l

(A) 40 (B) 80 (S APy 32

2

3=t

A) 205 B) 3: C) 4 D) 5=

(A) 2o (B) 33 | () D) 57

If the side of a square is increased by 25%, then its area is increased by

£ SHEIBDED G308, gOERY 25% HODB, DD FF9,0 Do DEDHEOD T
LI LB I x25% U K8 K11
(A) 40.5% (B) 55% ©) 25% (D) 56.25%

L 4

Ajay sold a cycle for Rs. 680, losing 15%. The cost price of cycle is Rs. .
BRaD &Y PBSD 680 LRRODHOK B, 15% SAPQ M0t 8 PES 5% IO DOBT (ERaRand?)

_ny’;j:aéufm?q_r/:m)u:g_ueso; Ll 15% S Lzt
(A) 782 (B) 800 (C) 760 (D) 820

IfA:B=2:3andB:C=4:5thenA:B:C=?7
A'B=2:-3s00amB:C=4:58c08A:B:Co0o87

_anA:B:C?xrB:C=4:5J;I A:B:Z:Sﬁ

(A) 2:3:5 (B) 2:4:5 (C) 8:12:15 (D) 2:12:15
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34)

35)
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[f 12 men or 18 women can do a piece of work in 14 days, how long will 8 men
16 women take to finish the work? (in days)

12 508 EythaEpen Joo 18 Foodd o0 28 HAD 14 5%erd doDHrieth. 8 £08 e o
16 3008 Heo o8 HOD ) 59 Hrey St ?

?‘_f;q/fuﬂu:&’/ﬁj,ﬁ lﬁz:i;faf(b’ghL,gz_/\)ju:wmfrﬁ.{iuf;f 18 s A1
(A) 9 (B) 14 (C) 12 (D) 10

“A’can do a picee of work in 8 hours while ‘B’ alone can do it in 12 hours. Both
and ‘B’ working together can finish the work in how many hours?

A &8 D00 8 fowds, B od £ 12 ok BanePs, A, B eo anegtin 502 & 909 .
B0 P TeH ?

UHFE SO BaiA et S u;flzerJIl,é'Burq_tffgj U 12
. Pl ol JF

4 ' I
(A) 4-5 B) 4 (C) 10 ®) 5

A tap can fill a tank in 8 hours and another tap can’emplty it in 16 hours. If both tl
taps arc open, the time taken to fill the tank will be o _ hours.

@5 DO &8 eR0500 8 (S0P DOYBIOH. 557 Hog) 9 eR0E0 1.6 Sobd and Bno
Both DOYOD B 8OY, & 2.0 DR, 150085 DOEIEON ?

Jl/._{lfd’.u:?uﬁ_%cg/dt&c,luﬁ.u}flﬁ Jr'/um:‘_b/!’u:uf’%:afu@..ﬂ.{
WG A LU B2 b1

(A) 24 B) 8§ (C) 16 (D) 10

A man riding his bicycle covers 150 meters in 25 scconds. What is his speed 1
kilometer/hour?

@8 58 P8I 150 oo 509 25 DECGOS BYLDAT, w50 S50 ot DR 8650t ?

?Jxﬁﬁg;b’dﬁﬁm?;..!:/é_u:i-—?zs.wr/'-flsoglﬁ’f,gp ‘
(A) 23 (B) 25 (C) 20 D) 216

RLS - 13 (Set - A) 8
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[ 36) A tram 132 m long passes an clectric pole in 6 scconds. The speed of the train in
kmphis
132 S Dtss) 50 2.8 Few ¥ D088 Hognd & dBES’ w2638, &3 Tew S5 B0k S|

%eﬁ‘sffl)eotﬁ ?

?J’)’/‘/)Kijd/V)JJ/JLd/JLu‘}r‘:’G!(éL}/J‘ a.u‘/iazfu/J:
(A) 80 (B) 792 )y 72 my 70

37) A certam sum is invested on simple interest. If it becomes three times in 10 ycars,
what is the rate of interest?

5208 5homed) enRcBES Hepnd HYE0 BOBO. KB HOBBES & F0Bo Futd Sigond, 56
G D0 ? ; :
waL;/;yc;?ﬁ-_dww"dh,u:dtf IO/,;g_tﬁf.a{:rC;d;}’\ffgb{i

(A) 25% (B) 20% (©) 22% (D) 18%

38) A sum becomes Rs. 2,916 in 2 years at 8% per annum compound interest. The sum
is  (inRs)

5°08 3o 8% Db <58 B Te8? 2 HOSBEEE 2,916 HeaHen BOwE, 8 BWO DOB?
(BRDe0DeS)

Indf ;L,}’JI:'Ld(pn:‘_.u2916M‘JV2LVL?£HUL/J/J:’C/8%('JJI
(A) 2560 (B) 2750 (C) 2625 (D) 2500 .

39) The arca of a rectangle is 12 sq. meters and its length is 3 times that of its width.
What 1s the perimeter of the rectangle? (in meters)
e cﬁcs BEIBQ0 Aoy 200 12 BEERY 08, D0 Do) Dsenid et Showd o ef)cs

BESHO rk)E%WE D0B7? (3‘)3636@)‘%

_s"rui,wb’d"’ brurU’%’Juf duJu'wc_/dflz.;;KJ""‘J'
(A) 14 (B) 24 () 16 (D) 18

40) The total surface arca of a cube is 600 cm? The length of its diagonal is _ meters.
25 HOBED (8, DOLRGSR Br3050 600 BEGRY POBELL. weR S0 Dk H0B?
(Dodogesd).

S EQISHE e 2 EFE 6005200 56 Bl

_ _ 10
(A) 103 (3) 10472 (C) 52 (D) 7

RIS 134Set-A)
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41) A student has to obtain 40% of the total marks to pass in the exam. He |

42)

43)

44)

marks and failed by 80 marks. The total marks in the cxam are

28 OB &8 DOES® GHEEDeRDS v $09050,688 4 0% ERt,en OLRY. OBD 220

00, BO F0RERED BEYS GDE0 DS GHSH RO STE 8, & HOFSS Rwio Sty
L nZ S bt bnt S S bt a0% LuPI A L YLl

(& =t L LRI e bl st
(A) 800 (B) 750 (C) 700 (D) 900

If selling price of an article is 3 of its cost price, the profit/loss iri this transa

%5 B A, O,H do 57 St éa")oéa @OV, B3 TRAPSOS? OO eney/&S
2
DO ? N -y u:cg,dunyﬁ 3 Waiedes, pjedfz

A) 662% Loss / &50 / YL B 331%1)rofu/e:ae;ro/
(A) 66 B (B) 333 g

©) 66-32-% Profit/ evgio / & (D) 33%% Loss / $o / ¢/iad

Satya starts business with Rs. 5,000 and after 4 months, Subhash joins with S:
his partner. After a year, the profit is divided in the ratio 2 : | rcspectlvcly V
Subhash’s contribution in the capital? (in Rs.)

&% TRERDRR) BB, 5,000 EROHO DEPDEST FBODOTD. DD Boe BHES

TRANEOE 2150 DT, RODBDOBDRDD B e TOEHE BHom 21 1.
DOTHEHHODS, KRk OB PN DEPLD? (B0 0eH)

/(’rﬁdtf Lt/J/JLr’;ﬂaLJle o /C/)/JLJJKC..-,.'L/C_.JJS{IKLK"]

¥, L/Kuuryu*a_/("” S B L 201,

(A) 3600 (B) 3700 (C) 3750 (D) 3800

"A” can finish a work in 20 days, ‘B” in 30 days and ‘C” in 12 days. ‘A’ ar

started the work, but arc forced to leave after 5 days. In how many days, ‘C’
can finish the remaining work?

&5 DO N, 20 858, ‘B, 30 556 Soaxn ‘C7, 12 6% Hpe) Bobret. ‘A’ S
B’ 8000 PE0PoDH 5 Elare HLhms OEHHED DO HPD J0HBO BOBROD. DA

wovom ‘(77 g 6%’ Hpe Bodred?
L fr6 fnusA b /L};u'unz/rhv 1Cs 31U 930S K S Bt U 5207 K.
-b”:._/J' J’u)d.l,r(, frs’;ﬂ u'a._u»n;.fl‘ﬂu;snau*

(A) 7 B) 6 (C) 8 (D) 5

RLS - 13 (St - A) 10
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ot 220 43) Athicf steals a car at 1 p.m. and drives it at 60 kmph on a highway. The theft is

¥ Q:‘q? I

b L
b 80

lon is

GETTe)

aas
it 1s

noticed at 2 p.m. and the police immediately started chasing him on a bike at 80
kmph. When will the police overtake the thief?

2% (POtS 2 S9tHR0 EDERER0 1 (oL GPoBDOD e 505 60 & §ue B508° et Serrod
BEDAAD. FOERO 2 GOV HatH EPOBDOBHEHED DPOOELER &8 HEW FHp 80
880 3508 Bowda) DY 500 DDA B ERotD TSV ?
ug:.(9lj.‘,'::;uL.a‘Lt‘Z&{;:J@;16)1;/?){60}3&(3;;{@._@;;”;:;;{l
J’“ng(;i,Jng{m;%dU/%;JD:JK:KSO;JL}{L){:',;?J{;;:JQJJ
ey S Gt

(A) 3.30p.m. (B) 4 p.m. (€) 5pm. (D) 6pm.

logV/s _

48] log5

1 1 ' 1
(A) 10gd5 B 7 © 1ogsvs - (D) 5

47) The sides of a rectangular field are in the ratio 3 : 4. If the area of the field is 10,800
sq.m, the cost of fencing the field at the rate of Rs. 10 per meter is : (in Rupees)

28 5)6 SEBTPSUR) RO N, B, Bsene 3: 4 DHBSF Grozow. & oD Ak, SmeeHn
10,800 w5555y ototfonnB, e DodthEd 10 Brdeabe SRS, @ Qoo r‘.ﬁ)é&:ﬁ E0d JoHmedd
D08 PIHE0D T (ERRODHET)

_JJ.,CHJJunc,/d/10800.=:Jran/-.»_3 4 A K{,u»:&d""ﬁ
(U512~ b’nbfbi.b": \.ﬁr‘fnc_.ulo/d

(A) 5600 (B) 4200 (C) 3500 (D) 6300

48) ‘Thc area of a rhombus is 384 cm?. The length of one of its diagonals is 32 cm. The
length of the other diagonal is : (in cm)

s 0 L5Eon C0E, PEee B0 384 5568 DOSB, 258 5D Gk, Dz 32 20 8o
@owd, Gord SEEw B, D) 087 (ot Hrtgss)

SnF S it i 2 F RS L e GG 3845 K L

(A) 24 (B) 36 (C) 18 (D) 48

RLS - 13 (Set - A) 1
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49) The height of a circular cylinder is 14 cm and 1ts curved surface is 704 sq.cm. Then
its volume is : (in cm?)

%5 SERSe0EY) HRDED NS, D) 14 1080 O D VKBS TR 704 B Dot
Doe500B TR F7 DOBTIO V0BT (FHY Lot Hokrss)

..Jn'd;(..:/ @;Ju’l?ﬂ/‘f&:d/704fﬁ’&:ﬁul}{ L}“"" 14&{3{’1'&.&&“@:5[141
(A) 5632 (B) 2816 (C) 1408 (D) 9856

50) What is the standard Deviation of the following?

808 5783 B0 H<S0n0 DoH? i ] LV KJ
) it7 Hd
10, 20, 30, 40 w SIS a6 5T 0

51) Find out the correct number in the place of “?°
go8 Fedest ‘77 e 33?6095‘5 BOGEDORD DFH Doy, DT
5760, 960, 7, 48, 16,8 LB v srar sl i T L8P U Jir 38 0)
(A) 240 (B) 192 (C) 160 (D)} 120

52) Find out the correct fraction in the place of ‘?’
808 FBeF 77 tho PB0OS LoD BT Pgo D7

18 4 Bn 6 g _-étﬁit"‘d//gdhi—ﬁgcf‘?’uw-J'rt.ﬁd:’@:

7 ¥ 7
A 525 B) 75 © 175 D) 2553

53) Find out the appropriate term in place of “?”
808 FeBes® “ 27 égagesoe‘ss SOEHD VFD DAY B8 08 7
AYD, BVF, DRH, ?, KGL & (58 S0 1000 d T L3 9l Jivr 5820
(A) FMI (B) GLJ (C) HLK (D) GMI

54) In the following series find the term in place of *7’
8065 oD FBS® 1?7 6y PHOSP SOTRERS HrPY B6%08.
AZY, BUT, CXW, DWV, ? - S8 Ridnd T80 Jir Ly o it
(A) VUE (B) EVU (C) VEU (D) CVA

RLS - 13 (Set- A) 12
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‘hen 53) "Bread’ isrelated to “wheat’ in the same way as ‘Brick’ is related to

voed

W

43

[

(A) Clay (B) Building (C) Cuboid (D) Fire
8&, 6B HoOHOLBENR, BT B0 HOOOCDOD ?
(A) 08 (B) 2908 (C) &gaodswn (D) oo
e ST S e ud P L
S o £ © = (B) FE @

56) There arc four words given in the following, Three of them arc alike in some manner.
Find out the odd one from the following?

(A) Guitar (B) Sitar (C) Flute (D) Violin
8085 e Dereen AD;WE0W, T3S By HEF &8 DoOLO KO &R0, aredes?
BVODEDON LoDV BERES08. -

(A) Bex& (B) 2=o5 (C) 2055% (D) HB0OS

~..£u“»‘t"5Jw‘aw/é.{u;wu,{;wc)fufq;zfé_:,»wu:‘)_,j@“
G D) S/ © S (B) A (A)

57) 1f GO =32, SHE = 49, then SOME will be equal to _
GO = 32 sopatw SHE = 49 eon® SOME 828 vsms50 7
3185t £ U SOMES 5 SHE =49 ,51GO = 32.J]
(A) 64 (B) 62 (C) 58 (D) 536
38) In the numbers from 100 to 1000, how many times digit 1 comes at the ten’s place?
100 008 1000 SEEH e Kaoaaﬁe)e‘)_‘s E AN} ri)qf)aasoeﬁ's 1 5o HoBY?
' _b”z,i‘.-i;f,/ﬂﬁ{rwéJpgﬁurﬁe..ﬂooo.:._loo
(A) 90 (B) 100 (Cy 10 ° (D) 9
59) If October 8, 2013 is Tuesday, then 1st January 2015 will be | N |
8 @556, 2013 HoHTERE0 BONE 1 BHHO, 2015 DIVHB0L ?
¥t sU S A 20155 52 107w e 20132 27181
* (A) Friday / o8seto / 22 (B) Wednesday / enganto /4747
(C) Thursday / chantso / o) A (D) Saturday / «#0eoc0 / =

RLS - 13 (Set - A) 13
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In the following figure, given numbers follow a certain trend row-wise or column
wise. Find out the missing number (7) _
8065 cwBadd DG 837 HoPEen N pEIoN, BD VLY 5D BFOR 520 &8 HFEED
@RV, HEEDS? BBDEND Vo, (7) D 506508,
_(_}j'g;d” a{c’._‘_.fuﬁ JULL.,»PLHK}I#!'J:JJgéé.)u‘:J_’E
SE B sl i T By Jiy

1 4 9
4 2 5
2 2 3
49 64 169
(A) 6 (B) 5 | (C) 4 (D) 3

In the given figure, numbers follow a similar pattern, find out the missing number
M. _
808 c0BES HE0BE, ROH HOY, 88 BETH FIGBD FDOMOHI §RNOD BJDFCVDB HOY,

()0 EEUS08. . '
Ll T LSyl Iy 2ol c oL nutJr1d & s bt 5t 00
E i e
12 170 16\32 40 36\18 27 -
6 | 8 9
(A) 18 B) 6 ©) 12 (D) 9

In the following series, one number is wrong. Find out the wrong term.
8015 00D FBS? 2.8 K0), Hd,m CVBAE0N. B KO, D7

5,27, 61, 122, 213, 340, 509 _» ,
~EELE S8 Sl it LI 3T

(A) 61 (B) 509 ©) 27 (D) 122

14
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63)

64)

65)

66)

67)

=\
e

7

In the following series, Find out the letters.in place of ?

oS oS Fr3S® 7 s BOGRS BETeen HD?

ac?cab?baca?aba?acac . _ 5 ]
~EEIESS 7L LT Lo Jir ity ot

(A) acbc (B) babb (C) bebb (D) aach

Pen is to poet as needle is to
(A) thread @B’)/ tailor (C) button (D) sewing
D BOS® Howogio 6%, X0e8? o) T3 B8 Hoa0t0 SoB T '
(A) oo (B) &b (C) ed (D) sgs&o
-b’x::.tf(u:uy,i@uyb’ar}q_cﬂfl;y"%
Jv o ¢ (© 4 ®) Sy @)
The angle between minute hand and the hour hand of clock when the time 154.20 is

4 15009 20 DROPLLD HERS0SID Sobe E0enth, HEEP BooeRtd Sogit50 960 0w 7
,b’n,;ub‘:@yué erwJ3IJrJ2f£d}’{&20/¢4
(A) 10° (B) 5° (C) 20° (D) 15°

Today is Monday, after 61 days it will be :

&3 6%y AFSOTRB0 BoNB, 61 SSre BLHsS & 6% oHBo0n 7 .
(A) Wednesday / anganto (B) Thursday / tothareso

(€5 Tuesday / sootseaniso (D) Saturday / #Rawto
Kl 9613 502K 50T

sk (D) Fo < e 2z (A
Find the missing number in the following,

8o0) ae3e $1F00D (7) 03D 8r08%08.

~E GBS adnl T LY 98 dir ot St

3 7 1
(6 |25 2] TEREG: 4 12| s
L 4] 6 LT
(A) 10 (B) 1 ©) 2 (D) 6

RLS - 13 (Set,- A) 9 15
Uz b

™
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Based on the given two statements below identify appropriate conclusion which
logically follows the statements :
Statements : _
Some kings are queens. All queens are beautiful,
(A) All kings are beautiful
(B) All queens are kings
(C) All beautiful are kings
(D) None of these

9‘:3551:’)503&13 !

5P08 5008 TReren Torae, BOLSED Coten O IBen,
(A) oereocscn YOS,

(B) oeeeostrn geaven
(C) eosorm & TRBOBER Dveven -E;é';"—f?u-’jf{’.{{%‘;@tkuéé-"dd}éf”

: ‘Qféxxﬂ}jrwqw.ﬁﬂ;ﬂ;n{‘
. U.?’Lf”t”ﬁra (B) L,‘f_?cax)‘-’);al}:l‘frl? (A)
Ak @, Gelohe il (©

Based on the given five figures, marked as 1, 2, 3, 4 and 5 identify appropriate
answer figure from A, B, C and D, which will continue the same series established

by the five figures. . o

S0t oWB & HEFE 1, 2, 3, 4 WO 58° HRowHE 450, A, B, C soam D e
BRI H0o6 DE0LD DRLRATY, HEH HLBVOB S2EFRO T SOBEDT HYo50s.
| Dss1A, B, C &1z gt L 2 s5011,2 3, 4.,)6141,*-4“4_.;&‘)“5@”

. _b”nt/(_);f::/:c:-ulf

L.

. T_H_ ] ]

\
]
o [L] W[L
y ]

—he

(D)

o | L

' 16

—
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70) A and B are married couple. X and Y are brothers. X is the brother of A. Howis Y

71)

72)

related to B?

(A) DBrother (B) Brother-in-law

(C) Cousin (D) Nong¢ of these

A Bopom B en dedes aob. X mo0am Y e A8dden. X, A o, 256w, Y, B 8

Do ?

(A) RS (B) ans
(C) 828 (D) 5O

..b"ﬂlf:ﬁ;VBniY..q..Jlp:b’AJ’ﬁX;«ufdlﬂ.ui::Yqu..q_lﬁzaﬁd:l}BuiA.

A ekt © ol @ Folz ® du @

In a certain code ‘INACTIVE’ is written as ‘VITCANIE’. How is COMPUTER
wntten 1n the same code?

&8 855 g5y ‘INACT IVE.’ & ‘VITCANIE’ o oo, 3 85668 COMPUTER & e

DR 7
- Jf:fb/’g/f’COMPUTER’;’a_LvLJ'VFTCANlE/’INACTIVEJL?)’JI

(A) ETUPMOCR (B) UTEPMOCR
(C) PMOCRETU (D) MOCPETUR

From the following four different positions of the same dice, find the number on
the face opposite the face showing 6.

8045 0D TRVt 2RDS fofsue 0k, 65 OPHBVPOTR ég S0POPH é@-@o@ﬁ) S04,
~FEab e sl T Re s L 6 s JEUE e i s SIS 305

el

(A) 5 (B) 2 (D) 4

RLS - 13 (Set - A) L
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73) How many triangles are there in the following figure? 5

8otS cw DB Heyoss o Sahanen Gryew?

“g,ng‘;.ﬁd;a;

(A) 17 (By 11
) 15 (D) 13
74) Haemoglobin : Iron : : Chlorophyll : ?
(A) Cobalt (B) Calcium
(C) Magnesium (D) Copper
. DEROERS w68 5365 7
(A) 8%eng - (B) =000
- (C) B%anm D 06 ‘¢
() o (D) ?w ¢ :L}’su{::u}f:uﬁj:ﬁ"
¥ O “F g &~ ®) OTTANTN
75) Line : Square : : Arc : ?
(A). Bali (B) Circle (C) Sphere (D) Ring
3&1:1‘5&35‘@0::0‘#&0: ? _
(A) @08 (B) a0 (C) 6o (D) seavo
STk
SH o h© s @) & @
76) Pituitary : Brain - Thymus : 7
(A) Throat (B) Spinal Cord (C) Liver (D) Chest
3)&153‘(3&.35:5365&3::@535: i
(A) 6eo8> (B) s (C)  sedomsn (D) oo
P u/(jl; g {izl..!:dﬁ'.z_:'p
D) £ ©  Giders ® F @

RLS - 13 (Set - A) 18
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77)

England is related to Atlantic ocean in the same way as Greenland is related to
(A) Arctic ocean (B) Atlantic ocean

(C) Antarctic occan (D) Pacific ocean

R0505S Dep0BE S HBHVLEDS G DODOGO L0 VOPOLO B5encks B08° Go?
(A) ®035 S8 HEwGo (B) eerpo0e3B 08 Hango

(C)  ®oLne3s o5 Hawgo (D) D2PB 50D8 DHWGO

_s’ra_u/u““Kﬂufcﬁulﬂc.;,uyu,l/d’nﬁf
JO A @ e dE (© nyn/. ®) el

For questions 78-79; four words have been given out of which three are alike in
" some manner, While the fourth one is different. Choose the odd one.

Brifen 78 B008 79 HEE; Bot5 oNBWED w0t Dot Homth Horen HE® & B0 HoROTRY
508 (-i‘smon ARgEH D50 HRBO PR &0o8). Djorn & DERY BoGe06.

78)
.I 79)

80)

81)

afw»u;.,w,!..ﬁmw,wa AP gL L b S (19178 1 k)

(A) Metre / oot (B) Acre/ 2860
(C) Furlong / $crotd (D) Mile / Foew :
K o £} © A @) P AT
(A) Tolstoy / endipo® (B) Tagore / ootinb
(C) Ghalib /- e (D) Keats/&5
Ve i © £ ® 5@

In a certain code, “SWITCH?” is written as “TVISDG”, Which word would be wriiten
as “CQFZE” in the same code?
&8 55% epxe® “SWITCH” & “TVJ SDG” oo ooy @3 55868 5 acﬁag “CQFZE o
sClobae nb ¥¢

Lo U d £ ocQrze 37 gp 20 TVISDGY "SWITCH =5 £ 3/ L
(A) BRAED (B) BARED (C) BREAD (D) BRADE

If ‘MINERAL’ is written as “QRSTUVW?” and ‘SOUND’ is written as “ABCSD”,
then how will ‘READER’ be written in the same code?

‘MINERAL’ & “QRSTUVW" o oo, ‘SOUND’ ® “ABCSD” o 003, 03 85648
‘READER’® &0 00030457

Ly 3 U S READERY Ut 20 "ABCSD"/ SOUND. 51 "QRSTUVW"Y MINERAL' Ji
(A) TUDVUT (B) QDZCDQ  (C) SBFEFS (D) UTVDTU

RLS - 13 (Set - A) 19
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If DELHI is coded as 73541 and CALCUTTA as 825 89662, how can CALICUT be
coded?

DELHI & 73541 00 888 333, CALCUTTA 9 8258966200 55& @33 CALICUT® &0

536 Sakisey? -
Ly 3 CALICUT U Z /3 S 82589662/ CALCUTTA /5173541 DELHL|
(A) 5978213 (B) 8251896 (C) 8543691 (D) 5279431

Pointing towards Rita, Ravi said, “I am the only son of her mother’s son”. How is
Rita related to Ravi?
Sen® SRHIT 658 cwee B, “Fo 80 89 cﬁné&ﬁam&&é S8 LER8D”: Bew, 508

D05 BN ?

(A) Niece / o855 (B) Mother / GTY
(C) Cousin/ 535 (D) Aunt/ esoed _
Lsaunl 567 S Untab B LUt e i nl St p St
' _z_--,.,ulf
&1 o v’ © ;) Fu

A and B are brothers. C and D are sisters. A’s son is D’s brother. How is B related to
I.C’? -

A #ooatn B en dicen. C oo D en 36cSmmen. A i, Hsntd D 8 555,
B, C 8 Hsosymetsr? o

(A) Uncle / @0 ’ (B) Brother / 8¢tHiH
(C) | Father / 808 (D) Grand Father / sessan,
v ,.ub’cJ,lB,a.J WEDEIEA-r U UdsDasiC Ut qu,-'uBmA
by (D) b © du ® Fio@)
‘bﬁ’% &
@’C’

RLS - 13 (Set - A) 2l
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Questions 85 to 88 : Read the following information carefully and answer the
questions given below.

There is a group of five persons - P, Q, R, Sand T. One of them is a doctor, one is an
engineer, one is a professor, onc is a manager and one is a psychologist. Three of them; P,
R and psychologist prefer tea to coffee and two of them Q and the professor prefer coffee
to tea. The manager, S and P are friends to one another best two of them prefer coffee to
tea. The doctor is R’s brother.
g0 85 Hood 88 S6H : §od VSRR, TP SOD, D ol ODJ 0B & PG
VDREETDS04. s _

P, Q, R, S svoom T ev ot 8,500 2:8 DO SR, TOLE 2BtH GRS, &8 Roadm,
50 Zoi08, &:5th S Hoahy B8 PSR, e’ Eihm: P, R sopasy DeBy 5o
508 50 Qg EERD. 088 Re3t: (Q 0ot Baos & 5ol sdi QOGOGID. dhdes, S svoat
Pen ?g%roéaen, 500 &Ry Slale & o8 5o C0FRETD. GoKb, R A0, VFLEID.
el ey &L sz e F Skl 588685 tebin)
Lloe ji’_,_(u/.-?.o{.-.{n}-'.‘.?'l.._fl:}-”l;._{suzuu_ﬁ_-_.%.,;fh{w’n)réyrum QR,S
! €2 QUi e (o 8K ey e ¢ L 2IRPUE Sl I L
_u.‘f"'q....:é/“.(i.l::(d Ku:’ug_)fuu,[?c:.‘/uﬂ':LL/;J@PJ:IS&%..@E“Q,JG};'L?

_%JWKRI.K}‘('J'JJI
| 85) Who is the doctor?
@D S ? feuf
(A) Q B) T (P (D) S
86) Who is the lilanager?' _
DHBaB 2555 ? feuf &
Ay Q (B) P w T (D) R

87) Which of the following person, who likes tea but is not a psychologist?
&0t 0d? & 58 B0 cnRHETL, 50d PSRy 07

e et et St pre ULy

J’* @ T B) S ©) P (D) Q

!- 88) Who is an Engineer?
ROBDD DS 7 ' ?.‘wa?fl
(A) § (B) R (€ Q D) T

RLS - 13 (Set - A) 2
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RO,

Soujanya walks 14 meters towards west, then turns to her right and walks (4 meters
and then turns to her left and walks 10 meters. Again turning to her left she walks
14 meters. What is the shortest distance (in meters) between her starting point and
the present position?

Foes 14 S0 DEHOG LB BED, BB 55 HH& D58 808 14 Mot SEOS BT,

85 D0 HELD BOB 10 Hoeory HEBD. F0¥, B:5 A0 PHLO BB 14 Hobdth) SEBD. B
£XB0 61§ HBHO, DAHOBOH F0B0 00k O DobatS SVY ENEOSS GoE?

-

—eFERI0 SV A G R 1S e G st G5 2 Ve S L
KA hob e b L se e e $a1l Jiie G52 e LG A

(A) 28 (B) 38 (€) 10 (D) 24

In a party both fish and meat were served. Some took only fish and some only meat.
There were some vegetarians who did not accept either. The rest took both fish and
meat. Which of the following diagrams correctly reflect this situation?

&85 DG IHen SO HRODHIN HF0 RGN, S208R08 B HnBab SXERRD. H08%08
B0 BP0 HPBEE BH05°DH. FP0BH08 TegRDithen. §3 Botn B B, HoBDE T
BHen, HROHFW, Botmw Breth. o8 a3t D Hesw oo DORBD POBOP BOAD B08?

B2l S BN U4 S8 e et et
2 Lo S 3 IS Ui r e i WSS S AL
- _L?’JLFJ!:‘J'éppﬁfﬁﬁlfuﬁdjbuuffdw"lu}n ‘

© Oo = (0

O

RLS - 13 (Set - A) 4
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91)

92)

93)

In the following figure, the boys who are athlets and disciplined are indicated by
which number? (The triangle represents girls, the circle athlets, the rectangle boys
and the square disciplined).

£00 HoBLP, B8 BHS 200 ©PHO D DOg; ARDI0E) 7 BFOEO eRDFVD), HBO B,
Y SE50 eRensd AN SESHO ERELHD DROK0.

-q_.lfl_.m;:ulcffa;-.};,%gi_uéyw:fukfﬁéﬂrudfq:-au

(ugz_/d'p’lx'J..'.-f.}_/Jd/m(fuf.‘hﬁ"qfug}%}lmfivJu:f)‘.-.t-ﬁ)

A
,

(A) 6 (B) 10 © 1 (Dr 2

Arrange the given words in the sequence in which they occur in the dictionary and

then choose the correct sequence.

SO% 0B DR BESSE E5068 BBOTH 55 HF HI0BED HREI08.
—é&f«cwJBWIMJHIJ,.;:}LIJLT;BUL.‘:ﬂ’[ﬂi’lgénﬁdifyu

1. QUALIFY 2. QUARTER
3. QUARREL 4. QUAVER
(A) 1,4,2,3 (B) 1,3,2,4
(C) 1,3,4,2 (D) 1,4,3,2

Abhi was born on March 6, 1993. The same year India’s Independence day was
celebrated on Sunday. On which day was Abhi born?

9% 6 SRO, 1993 8,03, ROBBEG0 BB J,BoFITH0 BOTEO et BHDE 08, @D

D 6% 3,0 7

(A) Saturday / #9aeds0 (B) Friday / <0850

(C) Monday / ds0anto ) Sunday / e&xseso
S Pracd &1 Gy $o1 T g 031U 5101 4 /10930 A6 1
A9 (D) £ (© -7 (B) Ziz (A)

RLS - 13 (Set - A) 2
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94) If A stands for +, B stands for - C stands for x, then the value of (1I0C4)A (4C4)B6
is .
Ad+0,Ba-o, C 8 x 520d, (10C4) A (4C4)B6 Dewss dos? :
..s'xt'f;:fb’(lOC4)A(4C4)B<s?..;_t/d'ﬂud'x.i’,zcm - S2Buste+ 2 AN
(A) 46 (B) 60 (C) 50 (D) 56

95) Find the correct number in place of 7’
800 Heoes 7’ @BK’JD@S SO DD HOY; DO?

-(L.TJ.&H/JJLJIJJ U@JU’L}:LPJJJCJJ

(A) 233 - (B) 213 (C) 208 (D) 223

96) In the following figures, a set of figures carrying certain numbers is given. Assuming
that the numbers in each set follow a similar pattern, ﬁnd the missing number in

place of ? .

£08 o0 DB Hered, 2 Herwe w599 w080 /Hom,en 5OB SIROW. & Botk HERGID ©oBen

00,e0 &8 erot3 Koo 5O SRODDEND), 7 FiJaa’:oeS‘s BOEHH DOPO BX0EH0d.

J.J.J:J? G Ji o u“cf.a...-lv U’c_.¢../u-..fli’u'd:d_;_r.ﬁ;mlbﬁdbfald/d;bu
2 6 4 -é(_ﬁj. ;xffi.l;

Yo oT IR0}
6 . 4 -

|
(A) 8 - ®B) S ) 7 (D) 6

97) Find the number of triangles in the following figure.

gods om%é&’)éoo@scorgge;ﬁa@wémgw? _égxﬁqwgd(ﬁJJi@J:
Sl BN
A} 19 (B) 23 ) 21 - (D) 10

RL$ - 13 (Set - A) w4
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98) A cube whose two adjacent faces are coloured is cut into 64 identical small cubes.
How many of these small cubes are not coloured at all?

&8 0B50 03E, Soth BNED & PP Bord 3, 64 PERZ 00D O Foissnence
SE00UBRGES. 57636 e SorHREabaED HsBven DR BoH ? |
/u;}"é—:{.{a’,gf.éfafdz/.umﬁwmglf..f';{w/;wuiué L
' . K s £,
(A) 24 (B) 36 (C) 48 (D) 60

99) At what time between 5:30 and 6 will the hands of a clock be at right angles?

3 . . : ;
(A) 433 minutes past 5 (B) 40 minutes past 5
7 . . '
(@)} 43ﬁ minutes past 5 (D) 45 minutes past 5
5:30 Hopaf 6 Hoteh 65 D85 Both By 043, ©025%00 Sotnod?
5
(A) 5 &obe 43ﬁ Q. (B) 5 tote 40 O.
1
7
(C) s totoe 431—1* Q. (D) stiobewas
l _L}_:‘Lﬂ{_ gsl}u:/f;._..fi. ¥ d/’{uyuéféﬁul.ﬁ 130
5
(e 4045 (B) BT L5 @
i
(w45 K5 (D) B L5 (©

100) As per planning commission of India, which was the fastest growing state during
2006 to 2010.

(A) Kerala ~(B) Bihar (C) Gujarat (D) Maharashira

2006-20100 &5, 87858 HIMBY HOKOO HSEO OEB.08 StSorm BDH)E) BOOS oogio ey ?

(A) Boy (B) & (C) Hams (D) 00
' _%gﬁfuijﬁkdn}u&};qJ&ﬂJ%JP:ﬁU?uLZﬁOﬁQﬂIO
t .
| e ) =14 © A (B) @

RLS - 13 (Set - A) | e
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101) Justice Varma commitice; constituted in December, 2012 to suggest amendments to

Crniminal laws related to

(A) Terrorism (B) Corruption

(C) Domestic Violence {D) Scxual Violence

&Rob, 201268 Hoztw Babads e J.S. 5, 85vel §R006 H54088 B ©0T08 Ho0POD

DB BRDODOD?
(A) ogemso (B) 056208850
(C)  tfem aron | (D) Bods 2rod
_(ij,LafJu)Eﬁazu/z_ﬁz./(f}u:;ﬁ«,.:iéJ‘fmu“?{zmz)-fs
st @ «kES © deets @ Gt @

102) National commission for minoritics celebrates Minority Rights Day on which of

the following day? . _
JA) 18 December (B) 19 December
(C) 20 December (D) 21 December
8o oot 85008 Porroile DKye HSTETFY DD, BHHEOD?
(A) &dob18 (B) &dob 19
(C) &dob 20 - (D) &0a6 21 : :
e bbb s AT o G i $T e
81 (D) 320 (©  A519 B) A58 (A)
103) Which of the following countries launched a long-range rocket Unha-3 in December
20127 '
(A) South Korea /é) North Korea
(C) Japan (D) China
Gaomd 2012¢° Unha-3 &F 2008 S0 028e5d 5 390 pBnBodot ?
(A) 58 5°00xR (B) &85 5200
(C) wa»s (D) Bwe
St By G /i EVUnha 3t 201275
o (D) e ©  WIE ® widR @

RLS - 13 (Set - A) =0
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104) Lionel Messi is identified with, which of the following?

(A) Swimming (B) Golf
(@) Foot ball (D) Tennis
D3RI Doy, SO 365 D Botsos® tHoR) BOH &Rt ?
(A) @006 B) 6%
C) Sens (D) 6%
v?m?u?c_xdu/wdiaufu‘cﬂ
oo J © 27 ® Sif @

105) Which of the following states has decided to observe the year 2013 as Information
Technology Empowerment year? B
(A) MadhyaPradesh (B) Gujarat

(@¥ Tamilnadu (D) Karnataka
806 06388 & oago 2013 DOHBOY TS 5308 R SO0 HODBGOP peJotIend
VTS Vel AN ' » |
(A) 0, DB : (B) aced
(C) - B0 _ (D) Boaks
L S sl aG A 7 i 2013y L erbi VLSl
. StS ) ke (©) :«!; (B) ‘-:{...;-u (A)

106) Who is the Pakistan’s caretaker Prime Minister, appointed till new National Assembly .
elections to be held in May, 20137 |
(A) Reham Sehari
87 Sarfuddin Khan
(C) Mir Hazar Khan Khoso
(D) lustice Iftigar Mohammed Chaudhari
5. 001368 HRES B0l IR BOTSCE, MBS 3505 BHEY, DERS o080
DODRODDEDED FB? |
(A) B a0
! (B) ﬁtﬁgp%(s E
(C) 806 sromb ge RS
(D) e appb Sosminb 60 o _ |
_g’l_,lzf"’!{;,uu’fuﬂ;uw’g‘.éﬂr&’vu}’&.uz_nﬁﬁ*wzowu”
Jbg A (B) Sz 0 (A
§ pizd BT @ Pl ze  ©

RLS - 13 (Set - A) B
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107) Who is the new BJP president?

(A) Nitin Gadkari @) Rajnath Singh

(C) Venkaiah Nayudu (D) L.K. Advani

RGHah ademe R BB VLD DSE?

(A) 288 55,8 (B) ool o6

(C) BoBon, mpanuts (D) LK. R, )
u;gfmz.ﬁd.:g&::;w

dusl b @ sxtk, (© Fiu, ®  SSLF @

108) Who is the new Prime Minister of Japan?

(A} Yosho Kama ' (B) Yoshiko Noda
(€ Yasuo Fukuda (D) Shinzo Abe
B3PS I B500ES DRDHH0G DS ?
(A) B’ sedm - (B) @Braest S5
(C) oHws powe (D) 8os* &3 ?U_':'Uffy'.fﬂf—éﬂk?
&is & (D) B2 (© 159,29 (B) WAy (A
109) Miss Universe 2012, Oliva Culpo belongs to which of the following countries?
(A) UK. (B) China ,
(€Y US.A. (D) Philipines
2012 Q08 0X0eDBE e 56 8ot 7368 & S8 Bosos ?
(A) am366 Bobits (B) @
(C) ameofo (D) %)D%tg
L TlaLJJJ;ZE@J:JH'KMU:'JIJ”&{U"NIZ
JE¥ @ iy © o (B) L. @
110} Who is the Director of Satish Dhavan space centre, Srihari Kota?
( K. Radha Krishnan (B) M.YS. Prasad
(C) Kota Harinarayana (D) K. Narayana.
8510 550650 08 tond VR A0&E BOBWD DO ?
(A) 3 CRLRETS ' (B) M.Y.S. 5085
(©) ﬁmsmmaﬁm (D) 3 oo
_(_{f’c}:{}’/}:f}&}';'uf:ldl)lﬁ)ﬁgﬂ,&fdﬁd/
g Ricdf B Aol (A
Sit-L ) g2l (©
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111) BRICKS summit 2013 was recently held in ‘

(A) Moscow (By~ Delht
(C) Hong Kong (D) Durban
2013 BRICKS 300y d5msdo O8t5 a08H087
(A) andf, (B) &8
(C) woseobh (D) &gs
T uleiiv F ¥BRICKS 2013
3 (D) LK E © & (B “L(A)
112) Who is the Man of the series of recently held Border Gavaskar Trophy 20137
(&Y~ Ravichandran Ashwin (B) Ravindra Jadeja
(C) M.S. Dhoni (D) Prgyan Ojha
e o 256 t5aeyb, 2013 PHeR S 8d & HED HHH?
(A) BDSOLES 8.8 (B) odop acer
(C) oboa® &% (D) By Gam

?_l,-@ul}é:g,(ﬁ:..jfcﬂ(2013(}!)/'”(.;5:&6{&{0:;};:.‘%-
Wy D) dFAE (©  fklikss BEAIREL (@A)

113) The Union Budget 2013-14 estimated a total expenditure of .

(A) 15.56 trillion rupces (B) 16.65 trillion rupees
(C) 18.65 trillion rupees (D) 19.26 trillion rupees
2013-14 Bogs BZET 80O PO OB PO SoD) ?
(A) 15.56 £O0HD ERarabeo (B) 16.65 8300Hd EmaroHen
(C) 18.65 3D SParAD : (D) 19.256 OaDHS draeabeD
LW F bl A Azt 258 S, £ 201314
s, St 21665 (B) &ss R 21556 (A)
£ 1021926 (D) L1865 ()
114) Zhuang Zedong, who died rccently associated with which of the following?
(A) Shuttle Badminton (B) Bilhards
(C) Swimming (D) Table Tennis
268550 SoBBOOH erarol Bwal o8 et BB K02 060 BOB SoGartd 7
(A) &3S e otd (B) o000
o)
(C) Rudo06 (D) &aod &0
| e S At K Fiigsldl s tUhb
SFE D 2 © o ®  Fd @

RLS - 13 (Set- A) -



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

7

Adda24

115) Which of the following were pranted the Maharatna Status by the Union Government
of India of February 20137

(A) BHEL and GAIL (B) ONGC and GAIL
(C) ONGC and NTPC : (D) NTPC and BHEL
DRSO 2013658 Bogs HEHBL0 E8 LB FPpoand Deoks ondew D7
(A) ©.325.808 sootn Fond (B) 2.8 sooam dond
(C) 2082 000 0d.e3.3.0 (D) 00.682.2 sooam 2.3mS.2.08
Wide mALEA Uil S B S it rsebar PSS 201360 2
S gy ) S odeEil @
g ddy @ SIS Ens (©
116) Who is appointed as the tirst Chief Justice of Meghalaya High court in March,
20137 ’
(A) Justice Sada Shivam (B) Justice T. Meena Kumari
(C) Justice Radha Krishnan (D) Justice Rajesh Kumar Agarwal
8728 20136° Sogeead 20555 D02 DR, OHBNPRT DB ROHEOOGLD ?
(A) adp doesso (B) ={% &, domesns
(C) =R oepegmS (D) 3% oodd) HE06 8tsioeS
' -krgzﬁé‘:.cp;?gfwbqj%;éxf(j}.)h?gﬁmwﬁw‘.
A B ceuR )
dl:/’i;lfu'-‘g!;ui‘? D) cf;/b:l.au"? <y -
117) When 1s the International Mother Language day is celebrated?
(A) February 22 (B) February 24
() Februaly 21 (D) February 28 -
©oBoREAD HrE)eredp BTBHO DD, BHYE0eREH?
(A) Bade, o» (B) daso, 24
(C) Bowo, 1 (D) dose, z?e-?!eki?gfutidul-df;mwérx
S 228 @) S 221 (© Ut S (B) Su3 222 (A)
18} LN secretary General recently commemorated as Malala Day.
(A) November 05 {B) November 15
(¢') November 20 (D) November 10
asiode DB HELH DELO adUS O 5% shemer &HOMT BSOODND 7
{A) Sooob, 0n (B) o028, 15
(C} ook, 20 - (D) 5028, 10 _
b S G U AL 1
2410 (D) 2920 () £915 (B) 295 (A)
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119) Light travels fastest through which of the following?

(A) Air (B)
(C) Diamond D)
5208 B39 tHowe SBOEB B0 HORBROE ?

(A) 0 (B)
(C) sazo (D)
A2 (D) lz ©
120) Non stick cooking Utensils are coated with
(A) Polystyrene - 4B)
(C) PVC (D)
RS Hoby igen B PRB HroLod GoeRon ?
(A) .r;hofgas (B)
(C) PVC (D)
exSt ) véid (©
121) The rate of evaporation decreases with
fA) increase of temperature (B)

(C) increase of surface area (D)
B8RO 0o, BSOS Ben BOP SERSHE S06 7

(A) &GS DODG (B)
(C) dvose BaeL dHOMHG (D)

Water
Glass

Do

R c
?Q.dj}(zl?iﬁ'uﬁu/u:dié;u&'u

3t ® 5 (@A)
Teflon
- Black paint
8305
0 Hooes _
tetbe S e S Bt
v ®) gL A
increase in humidity

increase in wind speed

B0 DBHGS
for3) _;Srso st lavinls)
?.?.dﬂ,?:(fi-ﬂdl:d/gﬁb;(fauﬁf

sk @) I Z s )
SuiAB.8n D) SLII, (C)
122) The unit of kinetic energy is same as that of
(A) Momentum (B) Pressure
(C) Force 4D) Work
t5Bed8 CIns, Hivedn 08 B3OS B00 D dotwon ?
(A) afesHo (B) Sassw
(C) aeosw D) s ) .
?q_dnd:l.-ﬂﬁu’(ébﬁd/dbl?_f/
Y O ! (© 5\ (B) =7 (A)
31
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123) Electron volt is a unit of

(A) Magnetic force (B) Charge
(C) Energy (D) Potential difference
DO Sep T8 Hireesain?
(A) ©0HF08 s (B) edasn
(C) @ (D) @S doe
i ?.‘F.L}FVI.,{IJ'.LJUUI;‘_GI
556 @ dvy © Lk B =icte ()
124) The weight of 400 gm stone is ‘
(A) 39N (B) 04N
(C) 0041 N ' (D) 3920N
400 [P&0e Do) 087
(A) 3.9 &nbE (B) 0.4 %01
(C) 0.041 B7 Lo (D) 3920 B o 5
_l{ﬂu}hﬁ’/{[‘l/m
€320 D) €004 (© 504 (B) %39 (A)
125) The electromagnetic radiations used in RADAR are
(A) o -rays (B) Microwaves
(C) y-rays (D) X -rays
w8 518 HEEODHIR0B DBGemes. .
(A) o - 85emen (B) 8585
(C) Y - 88eoen (D) X - &ces0en

e bW 2 dKS e P e i
JLSX ) LSY © BB LS a)

126) Centigrade and Fahrenheit scales give same reading at
2035t o0ty PSEneS Himemen 3ot D B &5 &8 Dens BOB Soerman?
?@Lxu%{dﬁu/égu;l;méfd‘:
(A) 40" : (B) -273°
(C) -100° (D) -32°
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127) Tartaric acid 1s the constituent of
(A) Washing powder
(C) Bleaching powder

6520205 B SO B, 2rREEDT

(A) 2205 2055
(C) B0k 206

GET IT ON
Google Play

(B) Plaster of pairs
(D) Baking powder

(B) 295 &% 0%

D) &808 ws8
Sl _4.;1:.9(1‘:(0/;:’1..02;!

StE @ st © vadTry B 0 Sy A

128) Which of the following is strong acid?

(A) Citric acid
(C) Nitric acid

800 50 HE PG BB T
(A) ¢35 esapso

(C) e85 esdpdin

Rt @ ASFE (©

(B) Oxalic acid
(D) Acetic acid

(B) wsmps esipsn

(D) DRe38 mapaw
-?}WK'U[L;J)JJJ

AT ®) - MASFL @A)

129) The National Chemical Laboratory i1s situated in

(A) Pune

(C) New Delhi

RS BR0BS epePGd D% G0l 7
(A) &ps
(O &8

AT (D) Juod ©

- (B) Patna
(D) Hyderabad

(B) anen -
(D) E."?a’“"s_?_guugfdﬁ.;w#ﬁ
4 ® Ly W

130) Food cans are coated with tin and not with zinc because

(A). Zinc 1s less reactive than tin

(B) Zinc 1s costlier than tin

(C) Zinc has a higher melting point than tin

(ID) Zinc is more reactive than tin

TSR BOLO BSOS YRS PP 520 HoBSP S0, DOLB0E
(A) B0, Be550 Bo& BEyH HBHOGH BOB S0k S0P

(B) @0 8560 B0 b8 Sk08

(C) B0, BB0 B0kl 285 0ol Powol 508 dodbo Sei -
(D) 20, 8550 B0& P HBHOGS KOG dotstoo B

RLS - 13 (Set - A)
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c‘:..ﬁf'(ask;’c;..c/'u{} (B)
-'T‘...J!)Juijc‘_.-c)au{} (D)
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131) Major constituent of LPG is

(B)

(A) Ethane

(C) Pentane (D)

D, .28, H0P,007 BID 5OB G0E0s ?

(A) 85 (B)

(C) ods (D)
S ety o 5 (©

~ 132) Which of the following is not an inert gas?

(A} Argon (B)

(C) Bromine (D)

8o e BdTPaY) 5208 HE?

(A) ®5d (B)

(C) &Fans (D)

vt (D) Sz (©

GET IT ON
Google Play

Butane
None of these

2783
DO
*‘;'/J;V/"Lj" " LPG

i (B) 2

Helium

Krypton

Se®ono

S ut‘:;uﬁévwfdjftﬁtzibn
@) UbT (@A)

133) Two elements X and Y have the same atomic mass but their atomic numbers are 20

and 21 respectively X and Y are

Both doreeseen X svoam Y en &8 emantsn 508 SR, DoE3 B0 VOGPV géoorsa 20
Sopar 21 ev @and, X, Y ok Hsocenth?

(A) Isotones / ety
(C) Isobars / odsenth

(B)

Isomers / DVFE

(D) Isotopes / oases*men
e C U T 220031200502 33158 £ 28 NE Ut 2 S LY 11K 35

BT (D) A2 T (© 2T B wit T (A)
134) Oncology ts the study of
(A) Birds (B) Cancer
(C) Solil (D) Mammals
B80S0 B BFDB0 B0l ? |
(A) s (B) s
(C) =083 (D) &cwoen
- S LIGSYT
el isitbasss (D) g (© A By Uiy (A)
34

RLS - 13 (Set - A)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

135) Who won the Nobel prize for his work on photosynthesis?
(A) Melvin Calvin  (B) M.D. Hatch (C) DI Amon (D) F Burnell

860 85, DocInG Boh WD DOSEHLDH SBS 2FVFOS J0DD FOTHEH?

(A) 08,5 0,5 (B) MD. 555 (C) DL e (D) F ogs
WS o i Sk A
et @) GITETYS (© A B walbuk  (A)
136) A compound that is quickly absorbed through the walls of the stomach1s ;
(A) Tat (B) Protein (C) Sugar (D) Alcohol
D QD0 B By H550e%8 R08 B0 ? _
(A) &%) (B) 2eediso (C) w85 (D) o5
Se b dear ttsf oS 08
=/ (D) & © iy (B e (A)

137) What is the smallest of the White Blood Cells?
(A) Eosinophils (B) Basophils  (€) Limphocytes (D) Monocytes
8y UL Stwe B8, 9 DY getio DO ?

(A) QPSR (B) en»dsDden (C) Qo | (D) S»Sipen

iy e o Ao o®m S
138) Which harmone controls the levels of Calcium and Phosphate in the blood and

bonc? _ :

(/}}/Glucagon (I3) Parathormone (C) Cortisol (D) Aldosterone

6508 Hopom aBnSe? P a0 Hovahs HRESH Foud D HE65SE DEHOGHEO?

(A)  theseced (B) @roe@dnd  (C) sooies (D) B8 D65

".:_LJJ/b fu;l:’éhﬁ"bnlfuu%; w u‘u.r"

s 30T (D) JLLE () o ,/:4 (B) B4 (A)

139) Child marriage Restraint Act was first time introduced in India in the year
eSS oS ere); HaREIe DOISS wHo BoogE0ESEIIOMNR & DOBBGO g wa-&aaaéaa)&oea?
?KMJJWJL’J(J'ELI-/&/L LfW/deJu’Juw:M
(A) 1955 ) 1956 (C) 1929 (D) 1976
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140) Which of the following viruses is responsible for Mumps?

(A) Como virus (B) Klamath virus
(C) Paramyxo virus (D) Botrtis virus
Bod ame3S® & Poen (555 BFesd SUno?

(A) 5%a» 6% (B) =ond 360
(C) eorawst 3% (D) es%e3e35 365

h{.t‘ﬂfﬂ&/ﬁ:.ﬁ;dﬁl:ufu’:d‘j@u
JIWAEN D) UiFis ©  UmAW B Jinrd (A

141) Who invented Rabies vaccine?

(A) Gail Borden (B) Benjamin Franklin

(C) Alexander Fleming (D) Louis Pasteur

B T AS DB EXRRD T |

(A) Bowd 58S, (B) Bozn0d PeosS

(C) o3podl ook (D) eonand (B ?c‘;-ufaer‘fﬂdb

A @ ko oDy @ wsd @

142) Which of the following are known as Protective Foods?

(A) Vitamins (B) Proteins
(C) Mineral salts (D) Carbohydrates
588 e85 Hrrozen ©0 Bon i3st B30 ©oenty?
(A) Doooxy (B) #rddyg
(C) wxcsng - (D) ©26%ndin
. e QWIS LV ER S S ib e
oK O L © gy ® . U o!
143) Quartz is chemically which one of the following?
(A) Calcium silicate (B) Silicon oxide
(C) Sodium sulphate (D) Calcium sulphate
BRODOBOm .8 36 08 a0’ HOT
(A) =pamo RDBeS (B) 0z 635
(C) Aséavo éges ' (D) =poo HgeS
?QLJJ'/J:QJE;;:QU(J__L{

i o) iy ©  BUTue ® < @
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144) Aspirin is chemically which one of the following?

(A) Sodium azide («Eff Acetylsalicylic acid
(C) Sodium silicylate (D) Ethyl salicylate
oD OBom @@5 808 8¢ HO T

(A) ds&odo vz6 (B) 2R0&8erdiE espin
(C) d&abo 1035 (D) &3S PODTeS

PRV IO LI 74
e Fra @ ey © LSt (B) 2Ty A

145) Fatigue is caused due to the deficiency of

I(f()‘ Biotin (B) Calcium
(C) Sodium (D) None of these
B0 3086 583 B3O H¥D0 S SentHE0O T
(A) acBne3S (B) se@avo
(C) ds&avo | (D) &&= ?é.éﬂ;.g:JJJJ{._‘ug
et D) fir © A~ B LEL )
146) Usually, Tsunami waves travel at a speed of kilometers per hour.

RRERBEROrR KomRa BEOTED LS Y ée?sg)JPQ 35089 Hooeso {5@;&)3?
"«:;-Jﬂ.’r-‘rﬁ/ﬁf:{ ------ JB;JU:}LJ&Y{;?(&
(A) 100-200 J3) 200-400 +(C) 400-600 (D) 600-800 -
147) What is the approximate speed of earth’s rotation? (in km/hrs)
g0 OXnE; H0HRD atio o8 (850 /t50).

(JJJ){}‘)-%JHL,;JJBJJJJ/’J&}

(A) 1510 (B) 1770 «) 1670 (D) 1870
148) Neptune has atmosphere similar to that of ‘
(A) Saturn (BT Uranus (C) Jupiter (D) Mars
BPp S ) DoTRHEH0 B0 RwDSEedS HERHOTR Gowod) ?
(A) & (B) oo (C) Hthee (D) somssis
?ﬁ;.tnjtfﬁg/ig:b’lﬁ{cjg
Gr D §# (© iy (B) SIio@

149) What is the difference of time between GMT and IST?
GMT 8, 1ST & &0 o8 HZ0abHo B G007 (Soted)

| (utur“f)-;.tﬁfﬁ)kisuyuiIST;,fGMT
1 | 1 i
(A) 6-2- (B) 4 (9/45 (D) 55
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150) The Paithan (Jayakwadi) Hydro-clectric project completed with the help of Japan is |
onthcriver |
(A) Ganga (B) Godavari (C) Narmada (P) Cauvery
Bard DEBONOS’ rg BobodS PES (BabEard) e DS HaL D $OP o0 ?
(A) o (B) &foede (C) sSu6 (D) sedle
_.k@lﬁ;{diJ(.*,-,Qq._{}?luij}(di!:_fg)dlf&l}bi._ﬂ();c_.u(fuyg
S8 (D) 147 (C) S (B) ¢ A

151) What is the increase in the percent of population of India from 2001 to 2011 census?
2011 BrRgR G50 HJG0, Lt5H B BeR VOB 53860 HOBOB ? (20041 BregRES éé‘giﬁ@ci)).
..ln..iuuéguﬂd;ﬁqfut'ﬂk&ih’ L8 21.12001-2011

(A) 17.19 (B) 16.64 « 18.12 (D) 17.64
152) Which of the following crops needs maximum water per hectare?
Sugar cane (B) Wheat (C) Maize (D) Barley
Bo8) a3’ & HOWD, W APEACHE DD HD BBHEO T
(A) Deotd (B) &S (C) Bwsgeg (D) exd
| e dren$diany FIE S S St
2z (D) & © urd  ® £ ()
153) What 1s blue revolution? '
(A) Commercial crop production (B) Bluc drug production ‘
(C) Bluc metal production AD)  Fish production
DO DHBO oS HEe3?
(A) =eda, Hobe ('aéé)g _ (B) &0 soothe G8g
(C) & &%n aua (D) &0 ¢ug T;Lg.,ali;;lllj
miglewl L& (B) RPN ol DTN
xS © Migdebd LL  (©
154) Indian railways factory - Diesel Component Works (DCW)is locatedat
(A) Perambur (B) Patiala (CY" Varanasi (D) Kapurthala
grtss G, Sop,rmpiEm - Ba& epwe Herrisn (DCW) DB GODT? |
(A) 3Bowoseth (B) »Bome (C) oG (D) sHse
?4‘;,guub‘frb’s’f!}.’ldzi_dﬂ;:ﬁzq}!
W (D) Gt (O JE B A (A
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155) When did constituent Assembly adopt Indian National FFlag?

(A) 22" October, 1947 (B) 22" June, 1947
(C) 22 July, 1947 | @) 22 January, 1947
aRGH PO SR 0,015 HOOK) D, E BBROODOL?

(A) o8B 22, 1947 (B) awd2p, 194r

(C) &n8 22,1947 (D) axsse 22, 1947

I TGS Gl S L
476,722 (D) 194730222 (© 19479222 (B) 19479122 (A)

156) According to Indian constitution, how many kinds of emergencics arc there?
RSB CoeR 005 HE0 DR B850 DS G0N 7

(A) Three / &o0etH (B) Two /8o
(C) Four / @eentH> (D) Five /o
e S L B J e o The s a
& ® S (©) » o (B) £ @A)

157) What is dealt within the Part 1V of Indian constitution?
(A) Directive principles of state policy
(B) Fundamental Rights .
(C) Citizenship
(D) Fundamental duties
gREE oen 0506 aReE aeeio B8 KoRoPODOD ?

(A) 023 DGRRRe BI85 Kgeen (B) @ppans doghen
(C) ;8.0 (D) ecsgns dGoen
“c_u'w .:..qu JZ A5 )
OF S (B) Uil & 54 W (A
Fiigg o) w0,
158) Who was the first chairman of the Planning Commission?
(A) B.R. Ambedkar (B) K C. Pant
(C) Chakravarti (1)) Jawaharlal Nehru
DEPBE DO DI BGLHBHD ?
(A) ®.e6 woZs,b (B) 83 sod
(C) =850 (D) asmbesd S

- 'I:J' -

e ot 4';%:*__;;.-._._/&,0 = Lk

e JUstr (D) G (© Ayl B Sheuiy o wy
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159) Who was the president of India when National Emergency was deciared in 19757

- (A) V.V Giri (B) Neelam Sanjeeva Reddy
(C) Fakruddin Ali Ahmed (D) Gyant Zail Singh
19756 apdoh 98,008 28 (250300 HSB0DDYD 2065 TPHDB DBEH?
(A) 2380 (B} deo K)oeﬁo’a Gle]
(C) 2085 8D oinbd (D) 2p0asd

| Y ;yﬁuv:mqjéd’/mﬁmﬁﬁ
EUidy © sFgdsp © i A ® A8 ()

160) Which of the following events compelled Gandhiji to launch the Civil Disobedience

Movement? .
(47 Jalianwala Bagh massacre (B) Rowlatt Act
(C) Chauri Chaura incident (D) None of these
ROB) HEBOH DO SLFHRY FPEONOHEDS D FED DO EPERSOEOR T
(A) ®00DHS amer 2nd B5O0TBE0 (B) et who
(C) Sfo 36 Dogobd (D) 5z
?émﬁxa..ﬂv.l.’jd'./tdr’ﬂ[,m:u/&d”»tf
2kisdy @) cef bnue @)
Lﬁ’J{;.qu-ﬂ (D) PP A VT A ()

L]

161) Which Article of Indian Constitution forbids Child labour?
208 0eR 00050 OT; BO5S are5R, 50D DADODON T

JJ‘» lvdki.fdu:/jufﬁx.ﬂ’ﬂu/ﬁyjf:

(A) 28 (B) 36 (C) 24 (D) 18
162) The tenure of the Rajya Sabha member 1s
(A) 2 Years (BY Permancnt (C) 5 Years (D) 6 Years
0pa308Y F0E00 DEHTPO0 Dos?
(A) 2 DodBoeen (B) oo (C) 5 Dos8oeen (D) 6RoBBosen
, -‘LJJfL;yJ'%JJ/JW—s?'/
Jue @ Jrs (© S ® Jvz (@A)
163) The term ‘democracy’ is derived from which of the following languages?
(A) Greek (B) French _ (C) German (1>} Spanish
‘BARED @D HO0 & gE 0od DORRPOWSDEOD ?
(A) & (B) oo (C) 258 (D) 08
_.f__fdc-_,ugju/(,ub-vuf“&/ﬁi”
GF) vz (© &) Uty M)
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164) According to census-2011, what 1s the literacy percent among women in Andhra
Pradesh?
2011 BReeR 859 S0 BOGHHITE? S03nte OKORE TBO OB T

_%Jw(&»mb/Jﬁmﬂwuw,«1J£g5;t-fr:/J201!

(A) 67.66 (B) 59.74 (C) 57.56 (D) 63.38
165) Brahmaputra enters India first at ‘ .
(A) Arunachal pradesh (B) Tripura
(C) Assam (D) Meghalaya
(PEBDEOSE WL B0k B0k DEE HBB00?
(A) ®sSS B (B) 800
(C) o0 (D) precHd
| ?:..:zd'l:ulﬂ;ia_../u‘uv:mi/h.c
JuE D) T © g B Fagft (A
166) The Eastern Ghats and the Westem Ghats meet at
(A) Vindhya Hills "~ (B) Sahyadri Hllls
(C) Aravali Hills (D) Niligiri Hills
Bt BT, HAFo BRI DS EROrR0N T
(A) Qo Hgmeen \ (B) »8.8 HOmeen
(C) soes8 D @moen (D)

Ded
y izuwuw'd/muw'd/

s & @ uligdil © uwd.«w ®  uUllglés @)
167) Indirasagar dam is built on which of the following rivers?

(A) Mahanadi (B) Chambal
(C) Narmada (D) Yamuna
R0QOE @55y oo eI’ & HO P atalelelaly
(A) om0 _ (B) <Soad
(€©) BEE (D) osod
. Wby LS Es S
w @ o F e $ily A

168) When was Reserve Bank of India was established?

Db, 2008 B OGO DD POOTWBODT? . =
e 5F TS SrOELEST Gy

(A) 1934 | (B) 1935
(C) 1937 (D) 1950
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169) Who is known as the father of Indian Civil aviation?

(A) JR.D Tata _ (B) Abdul Kalam
(C) Vikram Sarabhai : (D) Satish Dhawan
2REE P DRRDALHS DESTVET DD FIOENRS TRBHD ?
" (A) JR.D eren (B) omyd send
(C) o5 deoagman (D) %88 S ,
| W - T AR gt 2y
Ul:b)u‘e‘? (D) Jlﬁ,‘!;lf(/} ©) "Lﬂl.ﬂf' B) T (A

170) National Samplc Survey Organisation (NSSO) was established in
J0S o0 9T, REad (NSSO) 02, dpdocsadon ?
AT JJerwmssow‘;u’n s pSE S

(A) 1950~ (B) 1951 (C) 1949 (D) 1952
171) The Tenth Five year plan period started from
B HOGDE, DEBE & VOBEG0S’ PtioDoBLEOD? dntls p S IEUY
(A) 1992 (B) 2002 (C) 1997 (D) 2007
172) The Pallavas ruled from _
(A) Madurai (B) ”hruchendur (C) Tanjore » (D) Kanchipuram
DY DS 100G DORDOTD ? |
(A) &g (B) 8tHoadoind (C) somegipth (D) seodydo
- ' S JYF e ik
rigd¥ O 4 © 57 ® o s @)
173) Sri Krishna Devaraya maintained friendly relations withthe
(A) British (B) Dutch _ (C) Portuguese (D) French
8 80 Bomaben D508° @ Homorre S2HdBowR?
(A 2685 (B) &S (C) -derfico (D) o
& LI 2 se S L NS
JP o J6; © 3 (B P
174) Indian Classical Dance has been popularised abroadby
(A) Gopi Krishna (B) Uday Shankar
(C) Yamini Krishna Murthy (D) Malaika Arora
8RB @Y Hme0S HA TN TSt ,0 LoD BB 7
(A) 6% (B) &t5oD Hosb
(C)  oxeand g Homen (D) 8= ebice

?JUJQELJ/JJL:}J/;IJIhﬂ-’Lﬁl%lﬁ_
sl O S5t © Fo m bfqu (A)

"RLS -13 (Set - A) 2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

175) Who was the first Indian to be sclected to the British Parliament?

(A) Lala Lajpat Rai (B) Bipin Chandrapal
(C) Dadabhai Naoroji ' (D) GK. Gokhale
28 PEI0eTDH Do Sodag BoogBnised gesdatasd ?

(A) erenoadd cea® (B) 203 woard

(C) oemrepon 6% (D) GK 6%8

"JUI{JL—*:#&;JLHL:‘!J ;JJQ[&A.%;&J);

K¥LEE ) Sosdunh © ozt (B) laddl (A)
176) Who among the following drafted the resolution of fundamental rights for the Karachi
session of Congress in 19317 :
(A) Sardar Patel (B) Dr. B.R. Ambedkar

(C) Jawaharlal Nchru (D) Dr. Rajendra Prasad

1931 52080 oI, o2 d DIRB I Dorsans e Bop55) B0 SaHuD S0
TRIHED 7 _

(A) 2B o8 ' (B) . 0.66 @0ds,5

(C) a550be0e Iz (D)  we. medogmHared

Sl S S0P LT GISE RIS 93
A5 @) afdigz © Suids o B @

177) Who was the founder of “Chola Dynasty™? ’
(A) Rajendra-l1 (13) Dantidurp (C) Balban (D) Vijayalaya
Y Homeg WHOWS TS ?
(A) ovedogg -1 (B) Sodeod (C) ered (D) dzabeahH
' .,uufdgb’uuwib
Vi (D) o (© T3 ® Uil (A
178) Who brought Islam first time to India?
(A) Khaljis (B) Slaverulers  (C) Arabs . (D) Turks
QPOD PHSBLGDE SweseIDeem B2082H an3BE?
(A) =89 (B) e»dd dveHen  (C) edage (D) soten
' -LULJ&L;.—/U‘UV:#TWI
o (© gLk @) & w

179) The utle of *Viceroy’ was added to the oﬂ'wc of the Governor General of India fol
the first time in

WS 15556 aBCS oanéé esamaé) 05300 Pgoow OF ma:g DD E) 238 D ?
_irflJJza.../wlb)F’ i Jﬂ:&d//}fdb’:#
(A) 1848 (B) 1858 y)’ 1856 D) 1862
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180) The most common crime mentioned in Rigveda was
kf\/)' Cattle-Lifting (B) Kidnapping  (C) Murder (D) Rape
TS0 9B08 JESEEONE FBoM DEBEDSD D7

(A) DD PodDoEo (B) 8@y
(C) o8, ) meﬁafom_g@at)frzrkc.quiaufz
S (D) F (& JF(B) WEIEr (A

181) Tipu Sultan was the rulerof .
(A) Madurai (I3) Vijayanagar ) llydecrabad (D) Mysore

€38, Kenity B0 HODDOWIE ?

(A) S8 (B) Dmonseb (C) ocpend (D) 305006 ‘

LBULF RO Ukl

SO AT (© Fos @ Jlors (&)

182) Tulasidas, the author of Ramcharit manas, was a contcmporary of which of the
following rulers?

(A) Akbar (B) Shajahan (O) Ilulﬁayun (D) Sher Shah Suri
D3EESOB HIOVD BDODD BINTRD E0OTROS DD HESeHE 7
(A) ogb (B) apaosd (C) sosmaod (D) b &p 00d
Lt S S Uy e Lt R
St 2 (D) Uik (© ULEE ) Aoy
183) I1azara Ramaswamy, Vitala swamy temples were builtby
(A) Prataparudra Deva (B) Ravi Varma -1
(C) Sri Krishna Devaraya (D) Chattrapati Shivaj
RR08 CAEDRPAD, DEORRLIL SOOI DO BB HP,0EDEAD 7
(A) DEeDdHE BHE (B) 256, -1
(C) § g5 dsoeoden (D) 808 damed

-LIJ//:;‘LJJJB’J!J’UQ"NJ!YUJUI;}
d-f.':i@i}: (D)LUI!){'}‘ILS/ () St basSas B) 1 by (A)
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184) Ramakrishna mission was founded by o
(A) Rama Krishna Parmahamsa (B) Swami Virajananda
(C) Swami Shivananda - (D) Swami Vivckananda

SLVESTS) SO DBLD FeROWLD?
(A)  oes0g)E) HEEEROD (B) RS0 Hoeas

N) w DO D) & 3 &
(C) ey Bawido (D) Reyd0 DIeD0 Lol Pen,

LGty D) FESy (€ 1Feizadly (B) Latget U, (A

185) Which of the following Arts got inspiration from Jain religion?

(A) Gandhara (13) Mathura (C) Sunga - (ID) None of these
B85 S080 $00G HSes 0D 5E DO
(A) moRs (B) sogos - (C) xoots (D) &&setH
SLFE LS ES st di
A eky ® 6r © A ® el (A
186) Sisir Kumar Ghosh was the editorof . '
(A) Anand Bazar Pathrika (B) Amruth Bazar Pathrika
(C) Gana Shaku (D) Bartaman Pathrika
2B 55008 35y B DBBLL DODBELDT i
(A) 8500 werb DB (B) e naeb H8%
(C) | tSeaasd (D) atHnd 585 ,éi/':é!éu/uﬁfzb’/f
Koz (D) Ja'l'f ©y GrAints (B) Gz eT (A)
187) The partition of Bengal was madc in 1905 by o
(A) Lord Curzon (B) Charlcs Canning
(C) Lord Chelmsford (D) Charles lardinge
19058 HODBBOL BoTwS DD DB Dot ?
(A) b8us  (BB) o080 5008 (C) enb 359355 (D) woge winob
e Se s

Ll @ 350 © FSe o vl

188) Vascoda Gama belonged to which of the following countrics?

(A) laly (B) Finland (C) Portugal (D) Poland
a8, R & éré“’nacgtéa?
(A) apd (B) ol (C) 858 (D) 2880k
PRSI AV 310y ol (Y UE T
e W) Jos © e ®) Jiow
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189) Jaliyanwala Bagh was in

(A) Jalandhar (B) Ludhiana (C) Patiala () Amritsar
 adoHSeeenend O $650e GoGOT
(A) aeorss  (B) engamme (C) Bosmen (D) w5806
NI VA ANl
Ar D) J% © el B s (A)
190) On which occation the slogan ‘Nagpur Chalo” was raised?
(4—’() Non cooperation movement (B) Quit India movement
(C) Dandi March (D) Jhanda Satyagrah
‘SBRE 565 O DRG0 B HOBEoS® BBHWEODT
(A) RIBaD DoBTm €00 (B) 8.5 mobain 68500
(C) 0 o558 (D) =ome dEpiHesn
' ‘-‘Lfki{g:’u/v‘“""knﬁ”
u_ff:u’:%’ul(‘/u’i (B) L'.'Jl"-(’ﬁu;; (A)
| WS (D) LAGE (©
- 191) Who was clected as the permanent president of the Muslim League in 19087
- (A) AgaKhan (B) Nawab Salimullah
(C) Syed Ahmad Khan : (DY Syed Amir Ali
19085 HODES0S® S0RPOHE TRV, TLB B HET HETwBOTHH?
(A) @ arRd (B) S odawer
(C) Hond osnb and (D) %0 oMb 50 ‘
_ ?é.n_.:?;;-)f;y;,f‘;"él..@ﬁ’uﬁ;lms
Freiy @ obsir ©  AEo ®) UBET (A)
192) Who authored “Unhappy India™? :
(A) Dadabhai Naoroji (B) Lala Lajpat Rai
yf Surendranath Bannerji (D) Bal Gangadhar Tilak
“@d 82 R0GOIR” D DB GDOTD?
(A) weoegRow $°688 (B) epenwpdd 00D
(C) ®odogard &5 (D) ewe Soms ek

Cupu e £ kigtyl”
ol D) GAF ks (O traddl @) Grdduiss (a)
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193} What is the approximate Muslim population in India? (As per 2011 census)
QBIEDT FREBLBI0S SO Ve Do 980 OO ?
e B E LT Rt a0 LG a2
(A) 8% - 10% (B) 10%- 12%
(C) 13%- 15% (D) 16% - 18%

194) What was the capital of Vishnu Kundins?

(A) Undavalli (3) Mogalraja puram
(C) Srisailam (D) Denduluru
BEY D060 TREgRD D87 _
(A) 6o&HD : (B) Swosepmpto
(C) &3w0 (D) Botherth
| UL e F g Sy
si¥sxs (D) H:’u’/ (©) r;;{,ud’" B itz (A)
195) Under whose reeling Marco polo visited Motupalli?
(A) Beta Raju (B) Rudrama Devi
(C) Prola Raju (D) Ganapati Deva
B P 52008 HRGHIE ARENHYD HOBR,0EE ?
(A) Psoeer (B) cogsods
(C) oo (D) 58 SHesd
- LG;JJV&?:’LJ’;’IJLJ#:‘H:LJ
lgf:(,ﬁ/ (D) Zislsg () Sgstoss  (B) Zu (A)
196) Who authored Pakudurallu novel? _ ' '
(A) Rayaprolu Subba Rao (B) Devulapalli Krishna Sastry

(C) Kattamanchi RamaLinga Reddy (D) Ravuri Bharadwaja -
3053@03{%‘0 5DOoDOTH 7 .
(A) opo0Dben Koeroe) (B) Bpeny ol
(C) s-®OD oEDOmBE (D) ocegre SR
Ut S £ st Sk
$ AL Sy B Sl (A)
i A8, (D) dé;b”ﬂtu{&f ©)
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197) Who was the founder of colloquial language movement in Telugu?

(A) Gidugu Rama Murthy (B) Kandukuri Vireshalingam
(C) Chalam _ (D) Ravi Sastri
Be0HS® D HTIOE RS EITOE e85, DB 7
(A) Bt oesdaiame) (B) sowgne $3ors0
(C) Seo (D) sy
S AL Suridedis
A0 ® Surv 1
S 7S D) TR
198) The first colour cinema in India is - iy
(&7 Alam Ara (B) Raja Harischandra
(C) Kisankanya (2) Pather Panchali
gRESEIOS &9 orhe B0 ST
(A) @00 a0 (B) oeep oo
(C) 8>S 55 (D) 256 dowed
: s'%gufurcz.fx&icwd’ub‘u

A © W © wadien o m aTh

199) The right to property was removed through which constitutional Amendment.
ea%@ga’:aéaéﬁ} & 02RO DB Ryws EPaB0math?

Whtref £ @20 T En £

(A) 40 (B) 42 (C) 46 (I 44
200) Where 1s Ramappa temple located?

(A) Karimmagar Dt (13y™ Warangal Dt.

(C) Kirishna Dt. _ (D)  Adilabad Dt.

008 (9B D GFOT

(A) 860505 ep (B) o805 e

(C) giap evep (D) soeend g,

- C Ul s am s

Fatde ©  Felo Fh o ® EAS w
4
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